
Výsledky př́ıklad̊u

Cvičeńı 10

1. (a) fW (w) = max(0, 1− |w|)
(b) fZ(z) = max(0, 1− |z − 1|)

2. fZ(z) = 1
θ

(
e−λmax(0,z−θ) − e−λz

)
, pro z > 0, jinak fZ(z) = 0.

EZ = 1
λ + θ

2 , VarZ = 1
λ2

+ θ2

12

3. fZ(z) = 1
π

1
1+z2

, z ∈ R

4. (a) Z ∼ Γ(a, p1 + p2)

(b) Z ∼ Γ(λ, n)

(c) Z ∼ χ2∑n
i=1mi

∼ Γ
(
1
2 ,

1
2

∑n
i=1mi

)
5. Z ∼ N

(
0, σ21 + σ22

)
6. f√X−

√
Y (z) = 2

5 |z|
5 − 2|z|3 − 4z2 + 4|z| + 8

5 , pro −1 < z < 1, med(
√
X −√

Y ) = 0

7. s využit́ım: sin(θ) = 1
2i

(
eiθ − e−iθ

)
, arctan(θ) = i

2 log
(
1−iθ
1+iθ

)
U1 = e−

1
2
(Z2

1+Z
2
2 ), U2 = 1

2π arctan
(
Z1
Z2

)
fZ1Z2(z1, z2) = 1

2π e−
1
2
(z21+z

2
2) = 1√

2π
e−

z21
2

1√
2π

e−
z22
2 = fZ1(z1) fZ2(z2)
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